RigESEEH

o R1EH AEE FH FHLBKE
=RXBL smenwnn




2




2




2

0.00




2

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000




3)

. 000
. 000
. 000
1 . 000 1
. 000 1
. 000
,,,,,,, . 000 6
. 000 7




3)

1. 000

1. 000
1. 000
100km 100km 2. 000
100km 100km 1. 000




3/

3)

1. 000

1. 000

1. 000

.100.5

.2

1. 000

10




8)

1. 000
:8.0 :0.0
:0.0
1)
2)
1. 000
1. 000
:8.0 :0.0
:0.0
1)
2)
1. 000

1. 000




8)

:8.0 ;0.0
:0.0
1)
2)
1. 000
1. 000
:8.0 :0.0
:0.0
1)
2)
1. 000
1. 000
:8.0 :0.0
:0.0
1)

2)




3/

8)

1.000

1. 000

:8.0

:0.0

;0.0

1
2)

3)
4)

5)
6)

8)

1. 000

1. 000




4

8)

:8.0

:0.0

;0.0

1)
2)

3)
4)

5)
6)

7
8)

1. 000

1. 000

L1

100km 10

:8.0

:0.0

;0.0

Okm

1
2)

3)
4)

5)
6)

7
8)




5/

8)

9)
12)

13)
14)

15)
16)

17)
18)

e

19)
20)

100km 100km

2. 600

1. 000

1. 000

L1

100km 10

:8.0

:0.0

;0.0

Okm

1
2)

3)
4)

5)
6)

7
8)




6/

8)

9)
12)

13)
14)

15)
16)

17)
18)

e

19)
20)

100km 100km

2. 600

1. 000

10

1. 000

:8.0

:0.0

;0.0

1. 000

100

5 @R

()

2. 000

1. 000

Scnt

1. 000




7/

8)

2. 000

1.000

11

1. 000

:8.0

:0.0

;0.0

1
2)

2.000

3)
4)

5)
6)

8)

9)
10)

11)
12)




8/

8)

1. 000




R BAMEIA 1/ 1)

HHESN | RRKEEREME - PRI

EU4 | R1EH SR B BAb Bk a2 W

a— K 4 O B B & HNL H M & F =
kokk  TH— 1B k%
G ) K 1.000 X M7= v B
) -MEEY), UiEs%
FATHefifi
6.410 A SH 15
Rl (A)
12.890 A SH 2%
ARl (B)
19. 830 A SHE 35
Al (C)
12. 760 A SH 45
Hii &
5.210 A SH 55
HHE
& F 1. 000 =




2

0.00




2

1. 000

1. 000

1. 000

10




1)

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000




2

. 000

. 000

. 000

. 000

. 000

. 500

. 000

. 000

. 000

. 000

. 000




2

1. 000

1. 000

1. 000

1. 000




5)

1. 000
:8.0 :0.0
:0.0
1)
0.015
0. 004
2.000 [ 1
1. 000
:8.0 ;0.0
, 500 :0.0
1)

2)

500




5)

3. 0% 0. 030
2. 0% 0. 020

1. 000

1. 000
:8.0 :0.0
:0.0

1)
10. 0% 0. 100

20. 000

1. 000




3/

5)

:8.0 ;0.0
:0.0
1)
30. 0% 0. 300
25. 000
1. 000
:8.0 :0.0
:0.0
1)
10. % 0. 100
5 0% 0. 050

12. 000




4

5)

1. 000
:8.0 ;0.0
:0.0
1)
10. 0% 0. 100
16. 000
1. 000
:8.0 :0.0
:0.0
1)
2) 2. 000
3)

4)




5/

5)

1. 000




1)

1.000

:8.0

:0.0

:0.0

1
2)

3)
a)

5)
6)

R

7
8)

9)
10)

11)

2. 600

1. 000




[3£H] BT L 5 7K 415 Ry JEMAERER




